Implicit Differentiation $\mathbf{5}$

Learning Objectives: After completing this section, we should be able to

• find the derivative of a function when it is implicitly defined.

5.1Chain Rule Review

Chain Rule Problem from a Table:

Example. We have
$$f'(1) = 2$$
, $g(0) = 1$, and $g'(0) = 3$. Compute $\frac{d}{dx} (f(x + g(x)))$ at $x = 0$.
in side = $x + g(x)$
in side = $1 + g'(x)$
 $0 + side = f'(0)$
 $0 + side = f'(0)$

You try!

Example. Let $f(x) = x^2 + 2(g(x))^3$. Find f'(x).

chain rule
$$f'(x) = \frac{d}{dx} \left[x^{2} + 2 \cdot (g(x))^{3} \right]$$

$$= \frac{d}{dx} x^{2} + \frac{d}{dx} 2 \cdot (g(x))^{3}$$

$$= f'(g(x)) \cdot g'(x) = 2x + chain rule.$$

$$= 2x + chain rule.$$

$$= 0 \cdot tside(inside)$$

$$= 0 \cdot tside(inside) \cdot inside'$$

$$= 0 \cdot tside' = g'(x)$$

$$= 0 \cdot tside'(inside) \cdot inside'$$

$$= 0 \cdot tside'(g(x))^{3} = 0 \cdot tside'(inside) \cdot inside'$$

$$= 0 \cdot tside'(g(x)) - g'(x)$$

$$= 6 \cdot (g(x))^{2} \cdot g'(x)$$

-2.4=8

5.2 Implicit Equations
An explicit equation is of the form
$$y = \text{Some function of } X$$

 $\frac{F_X}{F_X}$ $y = (e^{-co^2/(x^4)})$ function that only depends on the
dependent variable X .
An implicit equation is
a relation/equation involving $y \stackrel{1}{\neq} X$, but it is in order
writtle in the form $y \in \text{some fresh of } X$
 $\frac{F_X}{F_X} \stackrel{1}{\neq} \frac{1}{2} = 1$ (a circle of radius 1)
What hap pens if we try to solve for y ?
 $y^2 = 1 - x^2$
 $= 2 \quad y = \pm \sqrt{1 - x^2} \quad = 2 \quad y = \sqrt{1 - x^2}$ and $y = -\sqrt{1 - x^2}$
 E_X $x^3 + y^3 - qxy = 0 \Rightarrow \text{ inpossible } + \text{ solve for } y$
Even though we don't know $y = f(x)$ explicitly.
 $W_L \quad \text{Can } \frac{5}{2} + i1 \quad \text{find } \frac{1}{2}$ the solve of the tangent 1 are
 $\frac{1}{2} \quad x^3 + y^3 - 9xy = 0$. Find $\frac{4y}{4x}$.

Example Continued. Step 1) Tak c $\frac{d}{dx}$ of both sides $\frac{d}{dx}(x^3 + y^3 - q \times y) = \frac{d}{dx}(0)$ $= \sum \frac{d}{dx} \frac{x^3}{x^3} + \frac{d}{dx} \frac{y^3}{y^3} - q \frac{d}{dx} \frac{x \cdot y}{x \cdot y} = 0$ $\lim_{x \to 1} \frac{d}{dx} \frac{y^3}{x^2} - q \frac{d}{dx} \frac{x \cdot y}{y \cdot y} = 0$ $\lim_{x \to 1} \frac{d}{dx} \frac{y^3}{y^3} - q \frac{d}{dx} \frac{x \cdot y}{y \cdot y} = 0$ $\lim_{x \to 1} \frac{d}{dx} \frac{y^3}{y^2} - q \frac{d}{dx} \frac{x \cdot y}{y^3} = 0$ $\lim_{x \to 1} \frac{d}{dx} \frac{y^3}{y^2} - q \frac{d}{dx} \frac{x \cdot y}{y^3} = 0$ $\lim_{x \to 1} \frac{d}{dx} \frac{y^3}{dx} = 0$ $\lim_{x \to 1} \frac{d}{dx} \frac{y^3}{dx} = 0$ $\lim_{x \to 1} \frac{d}{dx} \frac{y^3}{dx} = 0$ $\lim_{x \to 1} \frac{d}{dx} \frac{d}{dx} \frac{y^3}{dx} = 0$ $\lim_{x \to 1} \frac{d}{dx} \frac{d}{dx} \frac{d}{dx} = 0$ $\lim_{x \to 1} \frac{d}{dx} \frac{d}{dx} \frac{d}{dx} \frac{d}{dx} = 0$

$$d_{X}(X,y) = product rule$$

$$left = X$$

$$left = X$$

$$right = y$$

$$left = l$$

$$right' = y' = d_{X}$$

$$d_{X}(X,y) = left \cdot right' + left' \cdot right$$

$$= X \cdot \frac{d_{Y}}{d_{X}} + l \cdot y$$

$$\Rightarrow 3x^{2} + 3y^{2} \frac{d_{Y}}{d_{X}} = q(x \cdot \frac{d_{Y}}{d_{X}} - q \cdot l \cdot y) = 0$$

(b) factor
$$\overline{dx}$$

(c) djuide to solve for $\frac{dx}{dx}$
 $3x^2 + 3y^2 \frac{dx}{dx} - 9x \frac{dy}{dx} - 9y = 0$

$$= 3 y^2 \frac{dy}{dx} - 9 x \frac{dy}{dx} = -3 x^2 + 9 y \qquad (a)$$

$$= \frac{dy}{dx} \left[3y^{2} - 9x \right] = -\frac{3x^{2} + 9y}{3y^{2} - 9x}$$
(b)

$$\Rightarrow \frac{dY}{dx} = \frac{-3x^2 + qy}{-3y^2 - qx}$$
(C)

Example Continued. What does this $\frac{dy}{dx}$ tell us?

The form h
$$\frac{dx}{dx}$$
 gives slope of the targent to the
implicit curve, so long as (x,y) is on the original curve
 $\frac{dy}{dx} = \frac{qy-3x^2}{3y^2-qx}$
To find $\frac{dx}{dx}$ at a point, alwass weith the point is on the
curve:
Ex) Verific $(2, y)$ is on $x^3 + y^3 - qxy = 0$
To $\frac{dx}{dx}$ at $(2, q)$ is on $x^3 + y^3 - qxy = 0$
 $= 2^3 + y^3 - q \cdot 2 \cdot q = 8 + 64 - 72 = 0$
Find $\frac{dx}{dx}$ at $(2, q)$:
 $\frac{dx}{dx} \begin{vmatrix} qy - 3x^2 \\ (2, q) \end{vmatrix} = \frac{qy - 3x^2}{3y^2 - qx} \begin{vmatrix} q - q + 2 \cdot q \\ (2, q) \end{vmatrix} = \frac{q \cdot q - 3 \cdot 2^2}{3 \cdot q^2 - q \cdot 2} = \frac{2 \cdot q}{30} = \frac{q}{3}$
Whet's the tangent line to the implicit curve at $(2, q)$?
 $y - y_1 = m(x - x_1)$
 $y - y_1 = \frac{q}{3}(x - 2)$



Example. Suppose $\tan(x^2y) = x + y^3 \sin(x)$. Find $\frac{dy}{dx}$.

Example. The energy of a capacitor is given by $E = \frac{1}{2} \frac{Q^2}{C}$.